TR INEXH F R T Series Double Vane Pump

{.\ou Bﬂ.‘ucl

IS ¥ ¥ 12

HONG BANG TECHNOLOGY

it Introduction

RIERS

Hydraulic Symbol

T6/T67/T7 R HH AREAFIV REXR - ENE - REER - oK - SRURSEHR - RANEMLH R  BESE
FRERM - ZREABMETTE - HERRDSE - FHEREHE - RREEBLHESER R - o ZHATERNMW - EENM - 8
ENMW - AHNM - EONMA - TENM - iR SZTRERSS IR -

T6/T67/T7 series pin vane pump has the characteristics of small volume, large flow, high pressure, low noise, long life and high volume

efficiency. Double lip blade design, two lips and stator alternating contact. The pump has complete specifications, excellent performance

and reliable, simple and reasonable structure, easy installation and maintenance characteristics, can be widely used in plastic machinery,

die casting machinery, metallurgical machinery, smelting machinery, pressure machinery, engineering machinery, Marine machinery and

various hydraulic systems and other fields.

B S B Orderi

022
” HIRRHERAS iR RS
25 . .
Series Displacement-Shaft end Displacement-cover end
pump pump
003 - 005 - 006 - 008 - 010 | 003 - 005 - 006 ~ 008 ~ 010
T6CC - 012~ 014 - 017 ~ 020 - ~ 012~ 014 - 017 - 020 -
022 -~ 025 - 028 - 031 022 - 025 - 028 - 031
014 ~ 017 ~ 020 -~ 024 - 028 | 014 -~ 017 ~ 020 - 024 ~ 028
T6DC 031 035- 038~ 042 - ~ 031- 035 038- 042 -
045 * 050 045 - 050
042 - 045 - 050 - 052 - 057 | 03" 005° 006 * 008 * 010
T6EC | " 062 - 066 - 072 « 085 © 012 014 017 - 020 -
022 - 025 - 028 - 031
042 - 045« 050 - 052 - gs7 | 014 017 020 024 028
T6ED . 062 - 066 - 072 - 085 ~ 031~ 035+ 038- 042 -
045 ~ 050
T6EE 042 ~ 045 050 ~ 052 * 057 | 042 - 045~ 050 ~ 052 ~ 057
062 - 066 * 072 - 085 ~ 062 - 066 ~ 072 - 085
BO2 - BO3 - BO4 ~ BOS - BO6 | BO2 - BO3 - BO4 - BOS - BO6
T788 * BO7 -~ BO8 - B10 -~ B12 - * BO7 -~ BO8 - B10 - B12 -
B15S B1S

-1

PRz
Shaft type

iR
~

See shaft
size

HEse751a

Rotation

MR 4k B
&

View from
shaft end
R- IR E+
clockwise
L-3EREE
counter

clockwise

.

00

mOaE
Port
positions

ITHE
see chart
below

-A

FHER
Sealing
Class

it S
Design
number

1-51: T
12/Z NBR;
5-85 : A%
BZFPM;

10

AORS

port size

00- 01-
10

00, 01,
M1

FHlini
No

00, 01

E-Mail : sales@hzhydraulic.com

Hitp : www.hzhydraulic.com




&
B I

HONG BANG TECHNOLOGY

022 022 -1 00 -A 1 10
HiERERIS EERAERLS ” HOME Rirs BHER 3
Displacement-Shaft end Displacement-cover end B ﬁﬁﬁﬁﬁ Port Design Sealing 0 E__J'
shaft type Rotation e port size
pump pump positions number Class
B14 -~ B17 ~ B20 -~ B22 -~ B24 BO2 -~ BO3 - BO4 - BOS - B06 00+ 01
T7DB ~ B28 ~ B31 - B35 - B38 " * BO7 -~ BO8 - B10 ~ B12 * M1
B42 B1S
B14 - B17 - B20 - B22 - B24 B14 -~ B17 - B20 - B22 - B24
T7DD -~ B28 - B31 -~ B35 -~ B38 - ~ B28 - B31 - B35 -~ B38 -
B42 B42
T7ee | 042 045~ 050 - 05257 B‘Oéo‘v%0:0‘850;1115021‘2%06
~ 062 ~ 066 - 072 - 085
B15
T7ep | 042 " ORNAGRE 052 5P Elgzéﬁlgii%?gigﬁéggés?d
~ 062 ~ 066 * 072 - 085
B42
T7EE 042 - 045 ~ 050 * 052 * 057 042 - 045 ~ 050 - 052 ~ 057
~ 062 - 066 ~ 072 - 085 ~ 062 ~ 066 ~ 072 ~ 085
003/803 * 005/B05 - 006/B06 MR
> 008/B08 * 010/B10 5]
012/B12 » BO2 - BO3 - BO4 - BOS * BO6 View from
T67CB | 014/B14 * 017/B17 - 020/B20 - BO7 - BO8 -~ B10 " B12 *
~022/B22 - 025/B25 B15 shaft end 1-51: THS
028/828 - RWORT | one. | ATE 381 NBR:
031/831 See shaft see chart A 555 - ﬁ#gﬁ
size clockwise; below EFPM’ EIT
014/814 - 017/B17 - 020/820 BO2 - BO3 - BO4 - BOS - BOG LA & .
~ 022/622 - 0785 ° - BO7 * BO8 * B10 * B12 *
T67DB | 028/B28 - 031/B31 - 035/B35 | ..o counter
~ 038/B38 - 042/B42 - )
045/B45 - 050/B50 - 061 clockwise;
003/B03 - 005/B05 - 006/B06
- 008/B0S - 010/B10
B14 - B17 * B20 * B22 - B24 012/B12 -
T67DC ~ B28 - B31 ~ B35 ~ B38 014/814 ~ 017/817 ~ 020/B20
B42 + 022/822 - 025/B25 *
028/B28 ~
031/B31
Te7es | 042 1045 ~ 050 - 052 * 057 ° ;0\7%0:0.83‘0:1‘03‘0:1‘23‘06
~ 062 - 066 - 072 - 085
B15
003/B03 - 005/B05 - 006/B06
_ - 008/808 - 010/B10 -
003/803: HE Bt 2 PoT R S SRR @fﬁmm@@fﬂmmmgm
063/843: [n BispladinenP2B8dePBmelRY singlegiangng sig 951%%@0 B means double steering side plate structure
i 7. OSHAIORGTLGTREADBSEC %1| 1 Lrogadl osc)bkic 2
Same as eguivalent T6 single pump see T6 seriggipglegpump performance for reference.

MO fIEPort positions(Views from shaft end pump)

T7DD
T7ED
T7EE
T6ED
T6EE

E-Mail : sales@hzhydraulic.com Hitp : www.hzhydraulic.com




wo'

&

I= ¥ T4 132

HONG BAN

5 TECHNOLOGY

07

T6CC
T6DC
T6EC
T6ED
T6EE

R 5|SSIZE E F G 1 32 N o oP
T6CC 38.1 82.3 161.6 101.60 101.55 146.1 174.5 14.3
T6DC 38.1 87.4 184.9 127.00 126.095 181.0 212.4 17.5
T6EC 52.3 110.0 225.3 127.00 126.095 181.0 213.0 17.5
T6ED 38.1 82.3 168.5 100.00 99.967 140.0 174.5 14.0
T6EE 38.1 87.4 184.9 125.00 124.937 180.0 212.4 18.0

E-Mail : sales@hzhydraulic.com

Http : www.hzhydraulic.com




wo'

IS ¥ ¥ 12

HONG BANG TECHNOLOGY

&

Z¥ R Tinstallation Dimension

iAO0il port
[]e] D1 T1OBR & Thread
P1 1" FO8 26.2 52.4 254
76.2
01:3/4” FO6 22.2 476 19.0 3/8-16UNCx19.0
P2
T6CC 00: 1" FO8 26.2 52.4 25.4 74.7
10&11 : 2-1/2" F20 50.8 88.9 63.5 1/2-13UNCx23.9
s 84.1
00&01 : 3” F24 61.9 106.4 76.2 5/8-11UNCX28.4
00801 : 1-1/4” 7/16-14UNCx22.3
Pl F10 30.2 58.7 31.8 82.6
ML : 1-1/4” M12x22.3
01:3/4" FO6 22.2 47.6 19.0
3/8-16UNCx19.1
T6DC P2 001" FO8 26.2 52.4 254 74.7
M1:3/4” FO6 22.2 47.6 19.0 M10x19
00801 : 3” 5/8-11UNCx28.4
3 F24 61.9 106.4 76.2 8.9
M1:3” M16x29
P1 1-1/2" F12 35.7 69.9 3.1 98.6 1/2-13UNCx23.4
T6EC P2 1” FO8 26.2 52.4 25.4 74.7 3/8-16UNCx19.0
s 3-1/2" F28 69.9 120.7 88.9 102.4 5/8-11UNCx29.5
P1 1-1/2" F12 35.7 69.9 38.1 98.6 1/2-13UNCx23.4
T6ED P2 1-1/8" F10 30.2 58.7 318 82.6 3/8-16UNCx19.1
3 4 F32 77.8 130.2 101.6 102.4 5/8-11UNCx30
Pl 38.1 139.7 1/2-13UNCx30
1-1/2” F12 35.7 69.9
TGEE P2 37.1 98.6 1/2-13UNCx23.4
s 4" F32 77.8 130.2 101.6 115 5/8-11UNCx30
L1 Al Al Al
T7DD g e B W 4
L2 -faw | |
T7ED | ' :
T7EE | | 8 .
< [T} &
T67DC < | @
T67EC
F 5B sIZE 3 3 G n 2 N o P
T70D 383 148.3 347.7 134.2 125.000 124.937 180.0 213.0
T7ED 52.3 1335 361.0 148.2 125.00 124.94 180.0 213.0
T7EE 429 167.3 406.8 157.9 250.00 249,93 224.5%224.5 273x273
T67DC 38.1 114.3 286.0 109.5 127.00 126.95 181.0 212.4
T67EC 52.3 118.5 331.6 136.7 127.00 126.95 181.0 213.0

E-Mail : sales@hzhydraulic.com Hitp : www.hzhydraulic.com




wo'

I= ¥ ¥l ¥

HONG BANG TECHNOLOGY

&

Z 3 R ~TInstallation Dimension

RO 0il port
oc1 D1 T1OREY Thread
1-1/4" F10 30.2 58.7 31.8 101.6 7/16-14UNCx22.3
T7DD e i
) | 4" F32 77.8 . 130.2 101.6 114.9 5/8-11UNCx30
P1 1-1/4” F10 30.2 I 58.7 31.8 101.6 7/16-14UNCx22.3
P1 1-1/2" F12 35.7 69.9 381 98.6 1/2-13UNCx23.4
T7ED P2 1-1/4" F10 30.2 58.7 31.8 101.6 7/16-14UNCx22.4
S 4" F32 77.8 E 130.2 101.6 102.4 5/8-11UNCx30
P1 1-1/2” F12 5.7 E 69.9 38.1 139.7 1/2-13UNCx30
T7EE P2 l 1-1/2” F12 35.7 69.9 38.1 98.6 ‘ 1/2-13UNCx23.4
S l 4" F32 77.8 130.2 101.6 115 ] 5/8-11UNCx30
P1 1-1/4” F10 30.2 58.7 31.8 82.6 7/16-14UNCx22.3
T7DC P2 1" FO8 26.2 52.4 25.4 74.7 3/8-16UNCx19.0
S 3" F24 61.9 106.4 76.2 88.9 5/8-11UNCx28.5
P1 1-1/2" F12 35.7 69.9 38.1 98.6 | 1/2-13UNCx23.4
T7EC P2 it FO8 26.2 52.4 25.4 74.7 l 3/8-16UNCx19.0
S 3-1/2” F28 69.9 | 120.7 889 102.4 5/8-11UNCx29.5
788 ol LM S
T7DB ST TN — 6
T7EB oL el 4
T67CB z 1 | 5
T67EB -

R5|Esi1zE E F G J1 2 N 0 ©P
T7BB 52.3 110.0 2253 125.00 124.937 180.0 213.0 18.0
T7DB 114.3 286.0 109.5 125.00 124.94 180.0 2124 18.0
T7EB 52.3 118.5 3316 136.7 125.00 124.94 180.0 213.0
T67CB 101.6 265.6 88.2 101.6 101.55 146.0 174.5 143
T67EB 52.3 118.5 3316 136.7 127.00 126.95 180.0 213.0

E-Mail : sales@hzhydraulic.com Http : www.hzhydraulic.com n




wo'

IS ¥ ¥ 12

HONG BANG TECHNOLOGY

&

Z 3 R ~TInstallation Dimension

RO 0il port
@c1 D1 T1O$2 £ Thread
01:3/4" FO6 222 47.6 19.0
P1
00:1” FO8 26.2 52.4 25.4 76.2 3/8-16UNCx19.0
T78B
P2 3/4" FO6 222 47.6 19.0
s 2-1/2" F20 50.8 88.9 63.5 84.1 1/2-13UNCx23.9
01:1/4” F10 7/16-14UNCx22.3
P1 30.2 58.7 31.8 82.6
M1:1-1/4" F10 M12x22.3
01:3/4" FO6 222 47.6 19.0 3/8-16UNCx19.0
T7DB P2 00:1” FO8 26.2 52.4 25.4 74.7 M10x19
M1 : 3/4” FO6 222 47.6 19.0 5/8-11UNCx29
3” F24 5/8-11UNCx29
S 61.9 106.4 76.2 88.9
M173” F24 M16x29
P1 1-1/2” F12 357 69.9 38.1 93.6 1/2-13UNCx23.4
T7EB P2 3/4" FO6 22.2 47.6 19.0 74.7 3/8-16UNCx19.0
S 3-1/2" F28 69.9 120.7 88.9 102.4 5/8-11UNCx29.5
P1 1% FO8 26.2 52.4 25.4
76.2 3/8-16UNCx19.0
T67CB P2 3/4” FO6 222 47.6 19.0
5 2-1/2" F20 50.8 88.9 63.5 84.1 1/2-13UNCx23.9
P1 1-1/2" F12 35.7 69.9 38.1 98.6 1/2-13UNCx23.4
T67EB P2 3/4” FO6 222 47.6 19.0 74.7 3/8-16UNCx19.0
S 3-1/2” F28 69.9 120.7 88.9 102.4 5/8-11UNCx24.0
L1
i
I
L2 - -
Bs eSS =
Model shaft Cold mAHEE L1 L2 DIA K1xK2 H1 M1
1 238 58.2 31.7 22.225/22.200 4.76x4.71 24,53 -
2 357 71.4 38.1 25.400/25.370 6.35x6.30 28.22 M8x16
T78BB 3 A 40.7 24.5 SAE J498-b 1£f  16/32 - 135F
4 A 45.5 24.5 SAE J498-b 14} - 16/32 + 155 -
5 A 70.0 40.0 25.000/24.993 8.00x7.00 28.22

E-Mail : sales@hzhydraulic.com Hitp : www.hzhydraulic.com n




wo'

&

IS ¥ ¥ 152

HONG BEANG TECHNOLOGY

nes WS —
Model shaft Cold BARAE
1 A 83.6 493 M10x20
31.750/31.700 7.94x7.89 35.27
2 A 73.2 38.1
T7DB 3 A 55.2 38.0 -
SAE J498-b 14} -+ 12/24 - 145
4 A 77.7 48.0
5 A 87.9 50.0 32.018/32.002 10.00x8.00 35.0 M10x20
1 A 84.0 49.3 31.750/31.700 7.94%7.89 35.27
M10x20
2 A 91.0 50.8 38.100/38.050 9.52x9.47 40.36
T7DD 3 A 56.0 38.0 SAE J498-b 148 . 12/24 - 145
4 A 46.0 24.5 SAE J498-b 14 - 12/24 . 15F
5 A 68.0 50.0 31.018/38.002 10.00x8.00 41.3 M10x20
1 A 90.9 50.8 38.100/38.050 9.52x9.47 42.36 M10%20
2 A 61.9 38.1 31.750/31.700 7.94x7.89 35.27
T7EB 4
Tl 3 A 55.9 38.1 SAE J498-b 14} . 12/24 - 145 -
4 A 62.2 31.5 SAE J498-b 14 - 12/24 - 175
5 A 90.0 50.0 31.018/38.002 10.00x8.00 413
M10x20
1 A 90.9 63.5 38.100/38.075 9.52x9.47 4236
2 A 92.0 63.0 45.000/44.975 14.00%9.00 485 M12x24
T7EE
3 A 62.2 315 SAE J498-b 14} - 12/24 - 175F
4 A 75.0 48.8 SAE J498-b 1% - 8/16 + 1357
1 238 58.2 31.7 22.225/22.200 4.76x4.71 24.53 -
S, 2 357 71.4 38.1 25.400/25.370 6.35%6.30 28.22 M8x16
T6CC
3 545 455 24.5 SAE J498-b 1% - 16/32 - 155
5 343 40.7 24.5 SAE J498-b 14 - 16/32 - 13F
1 721 83.6 49.3 31.750/31.700 7.94x7.89 35.27 M10x20
2 577 73.2 38.1 31.750/31.700 7.94x7.89 35.27
T&70B
T67DC 3 55.2 38.0 SAE 1498-b 14} - 12/24 - 14F -
TeDC
4 77.7 48.0 SAE J498-b 1£f - 12/24 - 145F
5 83.4 60.0 34.900/34.875 7.94x7.89 38.42 M8x16
1 90.9 50.8 38.100/38.050 9.52x9.47 42.36 M10x20
T67EB 2 577 61.9 38.1 31.750/31.700 7.94x7.89 35.27
T67EC
TGEC
T6ED 3 A 55.7 38.0 SAE J498-b 14 - 12/24 - 14F -
4 A 62.2 315 SAE J498-b 148 . 12/24 - 175F

E-Mail : sales@hzhydraulic.com

Hitp : www.hzhydraulic.com




